//sender StO p &Wa it

RDT_send(data)

sndSgm = make_segment(s, data)
=0 \ UDT_send(sndSgm) revSgm=UDT _rcv() &&
‘ start_timer() (corrupted(rcngm) || !isAck(rcvSgm,(s+1)%2) )

rcngm UDT_rcv()

A

) timeout()

UDT_send(sndSgm)
start_timer()

revSgm=UDT _rcv() && ! corrupted(rcvSgm) && isACK(rcvSgn,(s+1)%2)

stop_timer()
s=(s+1)%2

//receiver

r=0
snngm: make_segment(ACK, r)

rcevSgm=UDT _rcv() && ! corrupted(rcvSgm)
: > && r==seqN(rcvSgm)

revSgm=UDT _rcv() &&
(corrupted(rcvSgm) || r'l=seqN(rcvSgm)

UDT_send(sndSgm)

deliver_data(extract(rcvSgm))
r=(r+1)%2

sndSgm = make_segment(ACK, r)
UDT_send(sndSgm)




